5"
@. 44'8 CM_}/L)'SQC

e T ——

5 me 5 ey I : 6“’:;_.@,,.
| G4 e Ssc : A o
mey - Sec ( Pl

/}-9?6 L /amia 7

B g —
| tor —;L (400—} k )S’

249° o L

VOE)| doe B YEN O W T




B

@ Uspse * 20X, 2 +3cX.25+ ok .27 + .
“ 20 [.2+.254.23 +.8G 4, 454 527 Rt
= (0,9 Faas
Lo 30[.05+.24.25+ 23 +.344.,45 | = 46.Btns




5.
@ 2[ 0+ 4423 +3.F+ 41438422 +1F +lo £.5 |

T 44.8

——-—5-_—- : —é—2 = éé?é L—/MIA
442

L-BeS
@ . 0| fo 440 4624 824+ U408+ i 4125 4132 4-%4:]%:.}"??

(s)

RHRS
.00l £ 9o +CULARZ AL + 0B LI + (285 +132 + (3] 4+ '47"1: /o4

. qu"”"‘q' - QQ?

2-

by 969 /2 =.a0s

@ y iau&lsu," 400 —¢(22) = 240 £i/sec
() 400 2
400 - @x Lo, 57
’Vo { 2 3 4 5 .§_:__o—— = |
0’) 400 |268|336| 304 | 232|240 5

R&LS
(820

\ Eaee +3233p4 ‘>°4-+7—‘-'IL+‘L4°] T 4320 {t

P S S S S



A (LAs T3S 42,3 +\.‘?§> = |

E



s
® b-a
l \a
2[ o4k (44234 39441438 3294 .4 +o
+.
44+« 5

=
o = £.69 L /en

442

;4 _ 1
@) 3 X-¥ y-ax$ AT & 4¥-xz=°
s (4-x)=o0

Y =-© ¥;q'




